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Chapter 10
The Business Cycle
Macroeconomics is the study of aggregate economic behavior, of the economy as a whole.

Business cycle is the alternating periods of economic growth and contraction

I.
Assessing Macro Performance

There are three basic measures of macroeconomic performance, and they are: 
· Output

· Unemployment 

· Inflation 

Macroeconomic performance worsens as GDP growth decrease.  However, this does not imply that we are in or heading to a recession.  A recession requires negative GDP growth. 
II.
GDP Growth

Production possibility frontier curve tells us how much output the economy could produce with available resources and technology.
In order for the economy to stay healthy output has to increase.  There are two reasons why GDP must increase over time:

· Increase in population (i.e. a constant increase in a factor of production).
· Technological improvements.
Recall that it must do this just to keep up with an increase in inputs.

Business cycle

The business cycle is nothing more that the growth trends of the economy with its troughs and peaks.

Real GDP

We measure the volume of output by its market value, not by it physical value.  The real GDP is used to avoid false reading of the economic well being.

We refer to the dollar value of all the output produced in a near as gross domestic product.

Nominal GDP is the total value of goods and services produced with in a nation’s borders during a given period of time, measured in current price.

Real GDP is the inflation adjusted value of GDP; the value of output measured in constant price.

Erratic Growth 

Real GDP does not increase in consistent, smooth increments but in a pattern of steps, stumbles and setbacks.

· Great depression 

· WWII expansion 

· 1981-1982 recession 

· 1982-1989 expansion 

· 1990-1991 recession

· 1992-2001 expansion 

· 2002 recession 

· 2002 – 2007 expansion
· 2007 – 2009 recession

· 2009 current expansion!
III.
Unemployment 

Another key indicator of how well the economy is performing in the unemployment rate.  Another way of understanding what is happening with the economy.  If GDP is negative, unemployment will be or is increasing in the near future, and vice versa.
The labor force

Labor force consists of all the persons over age 16 who are either working for pay or actively seeking paid employment.

The unemployment rate

Unemployment rate is the proportion of the labor force that is unemployed and actively seeking a job
Denoted as:
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Unemployment is the inability of labor force participants to find jobs.

It is often regarded as an index of human misery. Those who lose their jobs in a recession experience not only a sudden loss of income but also losses of security and self-confidence.

Even though your book says that unemployment is an index of human misery.  The Misery Index was formulated in the 1960s by Arthur Okun, and it is defined as:
Misery Index = Unemployment + Inflation

The highest level in the Misery Index was reached in June 1980 at 21.98.  The lowest Misery Index was 2.97 in 1953 and the current (as of August 2010) is 10.75.

The Full-employment goal

There are four types of unemployment:
· Seasonal 

· Frictional 

· Structural 

· Cyclical 

Seasonal Unemployment 

Seasonal unemployment is the unemployment that arises because of seasonal weather patters.  

· X-mas retail hires 

· Agriculture 
· Construction

The definition of seasonal unemployment regards X-mas as a weather event not as a cultural event.  Never the less, X-mas does create seasonal unemployment.
Frictional Unemployment 

Work and workers are not perfectly suitable:

· It takes time to find an decent job, and 

· It takes time for a firm to hire a qualified employee.

Frictional unemployment (1) – it is the unemployment that raises form normal labor turnover: from people entering and leaving the labor force and from the ongoing creation and destruction of jobs.

Frictional unemployment (2) – it is the unemployment that arises as workers search for suitable jobs and firms search for suitable workers.

Structural Unemployment 

Structural unemployment (1) is the unemployment that arises when changes in technology or international competition changes the skills needed to perform jobs (or change the locations of jobs).
Structural unemployment (2) is the long term and chronic unemployment that exists even when the economy is not in a recession.

Chronically unemployed are those who are unemployed a large part of the time.

Discourage Worker is a person who is available and willing to work but has not made specific efforts to find a job within the previous four weeks

Reasons for structural unemployment are:

1. Unskilled or low-skill workers often are unable to obtain desirable L-T jobs.

2. The reallocation of labor from industries that are shrinking, or regions that are depressed, to areas that are growing.

Cyclical Unemployment 
Cyclical Unemployment (1) is the fluctuation unemployment over the business cycle that increases during a recession and decreases during an expansion.

· Manufactures of durable goods

Cyclical unemployment (2) is the difference between the actual unemployment rate and the natural rate of unemployment.
“Cyclical unemployment is caused by a business cycle recession and wages not falling to meet the equilibrium level. Cyclical unemployment rises during economic downturns and falls when the economy improves” 

Cyclical unemployment =
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Where “u” is actual rate of unemployment and 
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is the natural rate of unemployment.
Policy Goal 
Full employment (1) is the lowest rate of unemployment compatible with price stability. 
Full employment (2) is “the level of employment rates when there is no cyclical unemployment.”

Note that full employment is the thing as zero unemployment or the natural rate of unemployment.  However each of these definitions are relating to employment indifferent ways.
IV.
Inflation 

Hyperinflation is a period of extremely high inflation (inflation > 30)

Relative vs. Average Price 
Inflation is an increase in the average level of prices of goods and services.

· It is the average price level of all goods and services because of the methodology used by the Bureau of Labor and Statistics (BLS) in constructing the Consumer Price Index (CPI).
Deflation is a decrease in the average level of prices of goods and services.
Relative price is the price of one good in comparison with the price of all other goods.

Example: 

An increase in the price of product ‘x’, simply mean that the price of ‘x’ is more expensive relative to the price of all other goods and services produced.
· This is a signal to the producers that they should increase their productivity.

· If all prices change at the same pace, then we do not have any important signal.

Redistribution
Because of inflation, income or wealth is redistributed to different players within an economy.  This is why, economist study the effect of inflation.  Some of the effects of inflation are:
· Inflation makes some people worse off, but it makes other people better off.

· Inflation acts as a tax, taking income or wealth from some people and giving it to others.

Price effects 

Nominal income the amount of money income received in a given time period, measured in current dollars.

Real income is in constant dollars; nominal income adjusted for inflation.

If what you get paid does not increase, then the nominal income does not change, but the real income will decrease if inflation is greater than zero.

There are two basic lessons about inflation to be learned:
1) Not all prices rise at the same rate during an inflation.

a) This is call price stickiness.  If we look at today’s economy we can see the following occurring to prices of different products:
i) Rise rapidly,

ii) Rise modestly, and

iii) Fall.

2) Not everyone suffers equally from inflation.
a) Those people who consume the goods and services whose prices are rising faster will bear a greater burden of inflation.
b) Those people who consume the goods and services whose prices are rising faster will see their real incomes fall.

Conclusion:

· There is a redistribution of income because of inflation.

· Because of the redistribution of income, producers will redistribute products.

Income Effect

If the price of product ‘x’ does in fact rise faster than all other products’ prices, we can safely make three predictions:
· The real income will fall relative to those who do not consume product ‘x’.

· The real income of those who do not consume product ‘x’ will rise to that of those who consume the product ‘x.’
· The nominal income will rise for those who are producing product ‘x.’
The last one tells us that the seller will pocket a bigger proportion of income from the buyer.

In general term, people do receive an increase in nominal income as a result of inflation.

· If prices are rising, income should be rising (the years between 1998 and 2010 did not see income rise, but it did have inflation).

· “I think”… it is believed that higher wages create the higher prices and not the other way around.

Wealth effects
The effects of inflation on you capital stock or wealth are:
· Inflation reduces the real value of your savings or wealth.

· If you hold stocks, the real value of your investment should be higher than inflation.

Examples were higher inflation could cause a lost in wealth are:

· SS income that increases at a rate below inflation – Grandma and Grandpa loss while the Gov’t wins.
· Mortgage rate that is below inflation – borrower wins and banks loss.  

Robin Hood?

The redistribution mechanics of inflation include:
· Price effect; people who prefer foods and services that are increasing in price least quickly will end up with a larger share of real income.

· Income effects; people whose nominal income rise faster than the rate of inflation will end up with a larger share of total income.
· Wealth effects; people who own assets that are increasing in real value will end up better off than others.
Uncertainty 

The uncertainty of inflation may also cause people to change their consumption, saving, or investment behaviors.  Inflation makes economic decisions harder to make.
Measuring Inflation
CPI is a measure (index) of changes in the average price of consumer goods and services.

Inflations rate is the annual (monthly or quarterly) of increase in the average price level.

Calculating the CPI 

Calculation has three steps:

1. Find the cost of the CPI basket at base period price.

2. Find the cost of the CPI basket at current period prices.

3. Calculate the CPI for the base period and the current period.

CPI =
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Basically CPI provides a way of averaging price increase by comparing the cost of the basket rather than the price of each item.

Measuring Inflation 

Inflation rate – The percent change in the price level from one year to the next.

Denoted as:
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The Price-Stability Goal 
Price stability is the absence of significant changes in the average price level;

The goals are:
· [The book says that] it is officially defined as a rate of inflation of less than 3%

· Ben Bernanke the Chairman of the Federal Board of Governors explicitly said in his senate hearings that the range will be defined as anything below 2 percent.
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�  (Wikipedia, (2010))


�  (Sullivan & Sheffrin, (2003))
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